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14 5-759 UM =3 E224EX%-3 DNS
15 466 FxF4 A%t FRAE -1 DNS
16 178 H HIK BEEM-3 DNS

RZ8
NEGL Fov— =11 FiE foix A

1 4412 E15 #K  ULTIMATE- 6 m 90 +3.0

2 4310 EK Rth Ise TC- 6 m 73 +2.1

35-267 ¥HE §& Z=FXF¥-2 6 m66+1.8

4 4707 HiH =t  ASSA-TC- 6 mb56 +1.3

5 4008 Rk EE SHESE-S 6 m 44 +0.5

6 4698 LLUi& %—  ASSA-TC- 6 m37 +1.0

7 4403 HA gt ULTIMATE: 6 m 36 +0.5

8 1640 E%5 SH-1 6mil +14



BF =B PR

IB6L Fon'— Bl il ELix
14706 ffiE E#E ASSA-TC- 13 m 87 +1.9

2 4015 & K& HESE2 13 m 43 +2.3
3 4004 U BEFE HESE-3 12 m 50 +1.3
4 1632 FiE 5N =H-2 11 m 84 +1.7



BF aiiEhr HEER

HEIE TN - £ Al P& 0%
1 1853 #& fi B EEER-1 3 m 81
2 1852 lLUMA H% B EERR-1 DNS
3 1671 /NIl F& R 1 7 m 61
4 1659 KLU 1@ #hEE-2 9 m 50
5 442 |Uig th& TR&E-2 8 m 97
6 639 FBEX # B¥-2 8 m 62
7 647 LF¥ E BHF-2 DNS
8 456 it £ FEE-1 9 m 42
9 435 N FHK FEAE-2 11 m 62
10 439 $80 H}F FRE-2 12 m 33
11 406 /N #8E  TE&E-3 14 m 34
~RZXk8
IBRE Fon— Z2X:0| g 8%
1 406 /NH #8E  TEE-3 14 m 34
2 439 §EO }FE FRE-2 12 m 33
3 435 IRAK FK FEAE-2 11 m 62
4 1659 KLU 1@ $hEE-2 9 m 50
5 456 ;adt EH  FEAE-1 9 m 42
6 442 LUEg th& FRAE-2 8 m 97
7 639 B #i =) 8 m 62
8 1671 /NIl F&  #HEE-1 7 m 61



BF AR PR

B Fon— G 1] Bl SCER
1 4070 1Bk %= =5k 13 m 87

2 4067 dtiF —B =FEEH- 10 m 85
3 4406 Hp =FH  ULTIMATE: 8 m 45



BF =SREBE HmEER
IBRL Fomn'— Z2X:0| FiiE sCEx%
1 43/ /AR HK  FEE-2 38 m 54
2 439 FEO FIF FEAE-2 31 m 94
3 456 dt £H  FEE- 29 m 97

4 4603 RA)I EE

1852 LA &5

HESE -2 18m24
AZEEA-1 DNS



BF HABR P tER
NBRE Fon'— Z2X:0| FiE ECER
1 4070 {7 & =5k 41 m 55
2 4067 dtiF —B =FEEH- 29 m 20
35-242 /NIl Bt Z=ZFEKXF-4 27 m 74
4 4406 Hhf FEFH  ULTIMATE: 24 m 66



BF UKk P tER
HEIE FUN - G<X:1] P& ECE%
1 4603 BRI B #HiESE-2 26 m 56
2 1109 JII&t HE5h  #F-2 41 m 36
3 4404 {RiE HHE  ULTIMATE- 42 m 77
4 1671 /NIl FE  #HEE-1 28 m 48
5 4411 ;E% {G@  ULTIMATE: 44 m 86
6 1070 HH N B2 36 m 60
7 1660 He HE  #5E-2 42 m 30
8 442 LR thE  FEE-2 46 m 12
9 406 /M AE FRAE-3 55m 10
~RZXk8
IBL Fon'— G D] g SCER
1 406 /NE ¥ & FRAE-3 55m 10
2 442 1LUEg thE FRAE-2 46 m 12
3 4411 EFF {58  ULTIMATE: 44 m 86
4 4404 {FiE HHE  ULTIMATE- 42 m 77
5 1660 He HE - #5E-2 42 m 30
6 1109 JIl&t HEsh  #F-2 41 m 36
7 1070 FHE #EN B2 36 m 60
8 1671 /NIl F& - #HEE-1 28 m 48



